
#8-12 x 1/2" Screw

(G)

(D)

#8-15 x 1.5" Pan Head Screw

(C)

#8-32 x 1/2" Screw

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

11 of 4254-425 6100-0004

Tools Required

Compose - Panel Mounted Wood/Veneer & Metal Shelves
Installation Instructions

ACTIVE COMPONENTS®

Parts - Painted Wood/Veneer Shelves

A

B

C

C
D

D

C

G

D

J

K

L

Scale 1 : 1

0 11/2
1/4 1/4

DO NOT OVER TORQUE

SCREWS, THEY COULD STRIP

OUT OR BREAK OFF!

CAUTION
#2

E



E

G

#8-12 x 1/2" Screw

(G)

(D)

#8-15 x 1.5" Pan Head Screw

(C)

#8-32 x 1/2" Screw

Parts - Metal Shelves

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

12 of 4254-425 6100-0004

A2

B

D

C

C

J2

G

L2

K2

L3



(D)

#8-15 x 1.5" Pan Head Screw

(D)

#8-15 x 1.5" Pan Head Screw

(D)

#8-15 x 1.5" Pan Head Screw

#8-12 x 1/2" Screw

(G)

#8-12 x 1/2" Screw

(G)

#8-12 x 1/2" Screw

(G)

(C)

#8-32 x 1/2" Screw

(C)

#8-32 x 1/2" Screw

For Painted Wood/Veneer Shelves For Metal Shelves

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

13 of 4254-425 6100-0004

A2
A

D
D

G

G

J2
J

K2

1A 1M

2A 2M

3A 3M

D

C

G

C

K



(D)

#8-15 x 1.5" Pan Head Screw

Rev:Part No:Page:E.C.O. No:

CUSTOMER SERVICE PHONE: 1-800-426-8562

14 of 4254-425 6100-0004

For Painted Wood/Veneer Shelves

For All Panel Mounted Shelves

For Metal Shelves

4M

(C)

#8-32 x 1/2" Screw

(C)

#8-32 x 1/2" Screw

4A

5

D

C

C

L3

C

L2

L3

L

1

2

E


